BID TABULATIONS

Contract No:DH00292

WBS No:17BP.8.R.997

County:Randolph Replacement of Bridge #18 over Bettie McGee's Creek on SR 1107 (Lassiter Mill Rd)

Bid Opening Date: 11/13/2018 at 2:00 PM

						T		NATIONAL PRINCE DI III DEDG					Г	
				EASTERN STRU	CTUDES LLC	DE DUDNE	& SONS CO., INC.		RIDGE BUILDERS LLC	SMITH-ROWE, LLC		DANIE CONS	TRUCTION INC	APPLE TUCK
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE
	Mobilization	1.00	LS	\$51,000.00	\$51,000.00	\$53,900.00	\$53,900.00	\$51,000.00	\$51,000.00	\$54,500.00		\$56,115.00		\$57,500.00
	Type II Modified Approach Fill, Sta. 15+81.60 -L-	1.00	LS	\$10,000.00	\$10,000.00	\$7,000.00	·	\$12,500.00	\$12,500.00	,	·	\$9,665.00	\$9,665.00	\$15,000.00
3	Grading	1.00	LS	\$90,000.00	\$90,000.00	\$145,800.00	\$145,800.00	\$45,000.00	\$45,000.00	\$145,800.00	\$145,800.00	\$100,000.00	\$100,000,00	\$165,800.00
	Supplementary Clearing & Grubbing	1.00	Acre	\$1.00	\$1.00	\$1.00	\$1.00	\$100.00	\$100.00	, ,		\$100.00	\$100.00	\$1.00
	Undercut Excavation	500.00	CY	\$10.00	\$5,000.00	\$8.00	\$4,000.00	\$5.00	\$2,500.00		·	\$20.00	\$10,000.00	\$8.00
	Drainage Ditch Excavation	60.00	CY	\$10.00	\$600.00	\$9.00	\$540.00	\$20.00	\$1,200.00			\$12.00	\$720.00	\$9.00
7	Select Granular Material, Class III	100.00	CY	\$30.00	\$3,000.00	·		\$10.00	\$1,000.00			\$35.00	\$3,500.00	\$8.00
8	Geotextile for Soil Stabilization	400.00	SY	\$2.00	\$800.00	\$1.50	\$600.00	\$2.00	\$800.00	\$1.50		\$2.25	\$900.00	\$1.50
	Foundation Conditioning Material,				•								·	
	Minor Structures	20.00	Ton	\$30.00	\$600.00	\$1.00	\$20.00	\$30.00	\$600.00	\$1.00		\$45.00	\$900.00	\$1.00
	Foundation Conditioning Geotextile	60.00	SY	\$2.00	\$120.00	\$1.00	\$60.00	\$1.00	\$60.00	·		\$2.25	\$135.00	\$1.00
	15" Drainage Pipe	104.00	LF	\$45.00	\$4,680.00	\$43.00	\$4,472.00	\$65.00	\$6,760.00	\$43.00		\$30.00	\$3,120.00	\$43.00
	15" Drainge Pipe Elbows	4.00	Ea	\$300.00	\$1,200.00	\$1.00	\$4.00	\$500.00	\$2,000.00	·		\$225.00	\$900.00	\$1.00
	60" RC Pipe Culverts, Class III	64.00	LF	\$275.00	\$17,600.00	\$145.00	. ,	\$425.00	\$27,200.00	\$145.00	·	\$225.00	\$14,400.00	\$145.00
	Pipe Removal	20.00	LF	\$30.00	\$600.00	\$10.00	\$200.00	\$5.00	\$100.00		· · · · · · · · · · · · · · · · · · ·	\$12.00	\$240.00	\$10.00
	Incidental Stone Base	15.00	Ton	\$40.00	\$600.00	\$35.00		\$40.00	\$600.00	·		\$50.00	\$750.00	\$35.00
	Incidental Milling	100.00	SY	\$17.00	\$1,700.00	\$15.00	· · · · · · · · · · · · · · · · · · ·	\$15.00	\$1,500.00	\$15.00		\$15.00	\$1,500.00	\$15.00
17	Asphalt Concrete Base Course, Type B25.0C	350.00	Ton	\$90.00	\$31,500.00	\$75.00	\$26,250.00	\$75.00	\$26,250.00	\$75.00	\$26,250.00	\$75.00	\$26,250.00	\$75.00
	Asphalt Concrete Intermediate Course, Type I19.0C	325.00	Ton	\$90.00	\$29,250.00	\$75.00	·	\$75.00	\$24,375.00		,	\$75.00	\$24,375.00	\$75.00
19	Asphalt Concrete Surface Course, Type S9.5B	450.00	Ton	\$90.00	\$40,500.00	\$75.00	·	\$75.00	\$33,750.00		,	\$75.00	\$33,750.00	\$75.00
20	Asphalt Binder for Plant Mix	60.00	Ton	\$630.00	\$37,800.00	\$625.00	,	\$625.00	\$37,500.00	\$625.00	·	\$625.00	\$37,500.00	\$625.00
	Right of Way Markers	3.00	Ea	\$225.00	\$675.00	\$250.00	\$750.00	\$300.00	\$900.00			\$300.00	\$900.00	\$300.00
22	Reinforced Endwalls	11.20	CY	\$1,200.00	\$13,440.00	\$985.00	ŕ	\$1,150.00	\$12,880.00	\$985.00	·	\$1,150.00	\$12,880.00	\$985.00
23	Masonry Drainage Structure	2.00	Ea	\$1,500.00	\$3,000.00	\$1,400.00	. ,	\$1,800.00	\$3,600.00	\$1,400.00	. ,	\$1,450.00	\$2,900.00	\$1,400.00
24	Frame with Two Grates, Std 840.29	2.00	Ea	\$550.00	\$1,100.00	\$350.00		\$650.00	\$1,300.00	\$350.00		\$575.00	\$1,150.00	\$350.00
25	Shoulder Berm Gutter	30.00	LF	\$40.00	\$1,200.00	\$65.00	ŕ	\$60.00	\$1,800.00		,	\$50.00	\$1,500.00	\$100.00
26	Steel Beam Guardrail	112.50	LF —	\$17.00	\$1,912.50	\$16.75	,		,		· · · · · · · · · · · · · · · · · · ·		\$1,884.38	\$16.75
27	Additional Guardrail Posts	5.00	<u>Ea</u>	\$35.00	\$175.00	\$30.00	·	\$30.00	\$150.00			\$30.00	\$150.00	\$30.00
	Guardrail Anchor Units, Type III	4.00	Ea	\$1,775.00	\$7,100.00	\$1,750.00	,	\$1,750.00	\$7,000.00	\$1,750.00	·	\$1,750.00	\$7,000.00	\$1,750.00
	Guardrail End Units, Type TL-3	4.00	<u>Ea</u>	\$2,900.00	\$11,600.00	\$2,800.00	\$11,200.00	\$2,800.00	\$11,200.00	\$2,800.00	· · · · · · · · · · · · · · · · · · ·	\$2,800.00	\$11,200.00	\$2,800.00
	Rip Rap, Class I	55.00	Ton	\$55.00	\$3,025.00	\$43.00	ŕ	\$60.00	\$3,300.00		,	\$35.00	\$1,925.00	\$43.00
	Rip Rap, Class II	300.00	Ton	\$55.00	\$16,500.00	\$47.00	, ,	\$60.00	\$18,000.00	\$47.00	· · · · · · · · · · · · · · · · · · ·		\$12,000.00	\$47.00
	Rip Rap, Class B	120.00	Ton	\$45.00	\$5,400.00	\$43.00	,	\$60.00	\$7,200.00		,	\$40.00	\$4,800.00	\$43.00
33	Geotextile for Drainage Generic Traffic Control Item,	950.00	SY	\$2.00	\$1,900.00	\$1.75	\$1,662.50	\$3.00	\$2,850.00	\$1.75	\$1,662.50	\$2.25	\$2,137.50	\$1.75
34	Temporary Traffic Control	1.00	LS	\$5,300.00	\$5,300.00	\$4,625.00	\$4,625.00	\$17,500.00	\$17,500.00	\$11,250.00	\$11,250.00	\$7,587.50	\$7,587.50	\$4,300.00
35	ThermoPlastic Pavement Marking Lines (4", 90mils)	1,800.00	LF	\$2.00	\$3,600.00	\$1.28	\$2,304.00	\$2.65	\$4,770.00	\$1.28	\$2,304.00	\$1.28	\$2,304.00	\$1.28
36	ThermoPlastic Pavement Marking Lines (4", 120mils)	1,800.00	LF	\$2.00	\$3,600.00	\$1.39	\$2,502.00	\$2.75	\$4,950.00	\$1.39	\$2,502.00	\$1.39	\$2,502.00	\$1.39
37	Permanent Raised Pavement Markers	20.00	Ea	\$55.00	\$1,100.00	\$7.50	\$150.00	\$15.00	\$300.00	\$7.50	\$150.00	\$7.50	\$150.00	\$7.50
	Temporary Silt Fence	1,085.00	LF	\$3.00	\$3,255.00	+		\$3.00	\$3,255.00			\$2.10	\$2,278.50	\$1.80
	Stone for Erosion Control, Class A	60.00	Ton	\$45.00	\$2,700.00		·		\$2,400.00		•		\$2,100.00	\$1.00
	Stone for Erosion Control, Class B	130.00	Ton	\$45.00	\$5,850.00			\$40.00	\$5,200.00				\$4,550.00	\$1.00
	Sediment Control Stone	215.00	Ton	\$10.00	\$2,150.00			\$40.00	\$8,600.00				\$6,880.00	\$1.00
	Temporary Mulching	1.50	Acre	\$1,400.00	\$2,100.00			\$1,350.00	\$2,025.00				\$900.00	\$225.00
	Seed for Temporary Seeding	200.00	LB	\$3.00	\$600.00	\$1.00	\$200.00	\$5.00	\$1,000.00				\$600.00	\$1.00
	Fertilizer for Temporary Seeding	1.00	Ton	\$1,200.00	\$1,200.00	\$350.00	·	\$1,200.00	\$1,200.00			\$1,200.00	\$1,200.00	\$350.00
	Temporary Slope Drains	200.00	LF	\$5.00	\$1,000.00	\$1.00		\$5.00	\$1,000.00			\$10.00	\$2,000.00	\$1.00
	Safety Fence	200.00	LF	\$4.00	\$800.00								,	
1	ı v		<u> </u>	+	, , , , , ,	, ,	+	, 0	1 72 3 3 . 3 0	,	T - 3 3 . 3 0	7 2.00	T === = T = T	1-100

			NATIONAL BRIDGE BUILDERS								APPLE TUCK		
			EASTERN STR	UCTURES LLC	R.E. BURNS &	R.E. BURNS & SONS CO., INC.		LLC	SMITH-ROWE, LLC		DANE CONSTRUCTION II		
ITEM NO ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE
47 Silt Excavation	110.00	CY	\$6.00	\$660.00	\$4.00	\$440.00	\$5.00	\$550.00	\$4.00	\$440.00	\$10.00	\$1,100.00	\$4.00
48 Matting for Erosion Control	6,360.00	SY	\$0.10	\$636.00	\$1.00	\$6,360.00	\$1.90	\$12,084.00	\$0.50	\$3,180.00	\$1.30	\$8,268.00	\$1.00
49 Coir Fiber Mat	595.00	SY	\$4.00	\$2,380.00	\$6.70	\$3,986.50	\$3.25	\$1,933.75	\$6.70	\$3,986.50	\$3.85	\$2,290.75	\$6.70
50 1/4" Hardware Cloth	590.00	LF	\$5.00	\$2,950.00	\$1.00	\$590.00	\$6.00	\$3,540.00	\$1.00	\$590.00	\$4.20	\$2,478.00	\$1.00
51 Floating Turbidity Curtain	335.00	SY	\$15.00	\$5,025.00	\$7.00	\$2,345.00	\$75.00	\$25,125.00	\$7.00	\$2,345.00	\$35.00	\$11,725.00	\$7.00
52 Special Stilling Basins	3.00	Ea	\$250.00	\$750.00	\$140.00	\$420.00	\$500.00	\$1,500.00	\$50.00	\$150.00	\$475.00	\$1,425.00	\$1,000.00
53 Coir Fiber Wattle	40.00	LF	\$10.00	\$400.00	\$6.00	\$240.00	\$15.00	\$600.00	\$6.00	\$240.00	\$10.30	\$412.00	\$6.00
54 Polycrylamide (PAM)	30.00	LB	\$12.00	\$360.00	\$1.00	\$30.00	\$8.00	\$240.00	\$1.00	\$30.00	\$12.00	\$360.00	\$1.00
55 Seeding & Mulching	3.00	Acre	\$2,500.00	\$7,500.00	\$425.00	\$1,275.00	\$2,500.00	\$7,500.00	\$425.00	\$1,275.00	\$2,950.00	\$8,850.00	\$425.00
56 Mowing	3.00	Acre	\$150.00	\$450.00	\$1.00	\$3.00	\$150.00	\$450.00	\$1.00	\$3.00	\$130.00	\$390.00	\$1.00
57 Seed for Repair Seeding	50.00	LB	\$3.00	\$150.00	\$1.00	\$50.00	\$8.00	\$400.00	\$1.00	\$50.00	\$12.00	\$600.00	\$1.00
58 Fertilizer for Repair Seeding	0.25	Ton	\$1,200.00	\$300.00	\$350.00	\$87.50	\$1,400.00	\$350.00	\$350.00	\$87.50	\$1,300.00	\$325.00	\$350.00
59 Seed for Supplemental Seeding	50.00	LB	\$3.00	\$150.00	\$1.00	\$50.00	\$8.00	\$400.00	\$1.00	\$50.00	\$3.40	\$170.00	\$1.00
60 Fertilizer Topdressing	1.25	Ton	\$1,200.00	\$1,500.00	\$350.00	\$437.50	\$1,400.00	\$1,750.00	\$350.00	\$437.50	\$700.00	\$875.00	\$350.00
61 Impervious Dike	33.00	LF	\$40.00	\$1,320.00	\$30.00	\$990.00	\$50.00	\$1,650.00	\$30.00	\$990.00	\$50.00	\$1,650.00	\$30.00
62 Specialized Hand Mowing	10.00	Mhr	\$40.00	\$400.00	\$1.00	\$10.00	\$45.00	\$450.00	\$11.00	\$110.00	\$75.00	\$750.00	\$11.00
63 Response for Erosion Control	13.00	Ea	\$50.00	\$650.00	\$1.00	\$13.00	\$300.00	\$3,900.00	\$1.00	\$13.00	\$50.00	\$650.00	\$1.00
64 Concrete Washout Structure	1.00	Ea	\$750.00	\$750.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$425.00	\$425.00	\$1,620.00	\$1,620.00	\$425.00
Removal of Existing Structure at Station 15+81.60 -L-	1.00	LS	\$45,000.00	\$45,000.00	\$25,000.00	\$25,000.00	\$115,000.00	\$115,000.00	\$73,725.00	\$73,725.00	\$32,000.00	\$32,000.00	\$20,000.00
66 Asbestos Assessment	1.00	LS	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$870.00	\$870.00	\$1,500.00
67 3'-0" Dia. Drilled Piers in Soil	15.00	LF	\$1,115.00	\$16,725.00	\$1,490.00	\$22,350.00	\$4,500.00	\$67,500.00	\$1,321.47	\$19,822.05	\$850.00	\$12,750.00	\$900.00
68 3'-0" Dia. Drilled Piers Not in Soil	45.00	LF	\$1,115.00	\$50,175.00	\$1,490.00	\$67,050.00	\$100.00	\$4,500.00	\$1,321.47	\$59,466.15	\$850.00	\$38,250.00	\$900.00
69 Permanent Steel Casing for 3'-0" Drilled Piers	21.00	LF	\$225.00	\$4,725.00	\$140.00	\$2,940.00	\$140.00	\$2,940.00	\$260.00	\$5,460.00	\$215.00	\$4,515.00	\$140.00
70 PDA Testing	1.00	Ea	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$3,900.00	\$3,900.00	\$3,000.00	\$3,000.00	\$2,550.00
71 SID Inspections	1.00	Ea	\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,125.00	\$1,125.00	\$1,000.00	\$1,000.00	\$1,000.00
72 CSL Testing	1.00	Ea	\$3,500.00	\$3,500.00	\$2,450.00	\$2,450.00	\$2,450.00	\$2,450.00	\$3,950.00	\$3,950.00	\$3,500.00	\$3,500.00	\$2,450.00
73 Unclassified Structure Excavation at Station 15+81.60 -L-	1.00	LS	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00	\$40,000.00	\$40,000.00	\$20,000.00
74 Class A Concrete (Bridge)	70.10	CY	\$800.00	\$56,080.00	\$1,000.00	\$70,100.00	\$800.00	\$56,080.00	\$908.48	\$63,684.45	\$1,300.00	\$91,130.00	\$1,250.00
75 Bridge Approach Slabs, Station 15+81.60 -L-	1.00	LS	\$16,000.00	\$16,000.00	\$20,000.00	\$20,000.00	\$22,500.00	\$22,500.00	\$22,550.00	\$22,550.00	\$11,775.00	\$11,775.00	\$25,000.00
76 Reinforcing Steel (Bridge)	16,195.00	LB	\$1.10	\$17,814.50	\$1.50	\$24,292.50	\$1.25	\$20,243.75	\$1.27	\$20,567.65	\$1.25	\$20,243.75	\$1.50
77 Spiral Column Reinforcing Steel (Bridge)	1,385.00	LB	\$2.50	\$3,462.50	\$5.50	\$7,617.50	\$2.50	· ·	\$2.42	\$3,351.70	\$2.50	\$3,462.50	
78 Pile Driving Equipment Setup for HP 12 x 53 Steel Piles	10.00	Ea	\$500.00	\$5,000.00	\$1,000.00	\$10,000.00	\$500.00	\$5,000.00	\$500.00	\$5,000.00	\$1,000.00	\$10,000.00	\$1,500.00
79 HP 12 x 53 Steel Piles	151.00	LF	\$40.00	\$6,040.00	\$30.00	\$4,530.00	\$30.00	\$4,530.00	\$48.59	\$7,337.09	\$34.25	\$5,171.75	\$43.50
80 Steel Pile Points	10.00	Ea	\$150.00	\$1,500.00	\$200.00	\$2,000.00	\$150.00	\$1,500.00	\$205.00	\$2,050.00	\$250.00	\$2,500.00	\$112.50
81 Vertical Concrete Barrier	260.29	LF	\$100.00	\$26,029.00	\$140.00	\$36,440.60	\$90.00	\$23,426.10	\$94.71	\$24,652.07	\$80.00	\$20,823.20	\$125.00
82 Rip Rap Class II (2'-0'' Thick)	349.00	Ton	\$55.00	\$19,195.00	\$42.00	\$14,658.00	\$50.00	\$17,450.00	\$42.00	\$14,658.00	\$52.75	\$18,409.75	\$42.00
83 Geotextile for Drainage	387.00	SY	\$2.00	\$774.00	\$2.00	\$774.00	\$3.00	·	\$2.00	\$774.00	\$2.25	\$870.75	\$2.00
84 Elastomeric Bearings	1.00	LS	\$5,000.00	\$5,000.00	\$5,545.00	\$5,545.00	\$5,000.00	\$5,000.00	\$3,925.00	\$3,925.00	\$7,500.00	\$7,500.00	\$7,500.00
85 3'-0" x 2'-9" Prestressed Concrete Box Beams	900.00	LF	\$251.00	\$225,900.00	\$250.00	\$225,000.00	, ,		\$265.62	\$239,058.00	\$300.00	\$270,000.00	\$310.00
86 3'-0" x 1'-9" Prestressed Concrete Cored Slabs	400.00	LF	\$157.00	\$62,800.00	\$175.00	\$70,000.00	\$130.00	· ·	\$151.04	\$60,416.00	\$155.00	\$62,000.00	\$175.00
Didden No. 1. EACTEDNICTUDEC LIC	•	•	1	\$1,028,584.50		\$1,079,832.48		\$1,084,725.48		\$1,095,662.04	,	\$1,122,381.33	

Bidder No. 1: EASTERN STRUCTURES LLC Bidder No. 2: R.E. BURNS & SONS CO., INC.

Bidder No. 3: NATIONAL BRIDGE BUILDERS LLC

Bidder No. 4: SMITH-ROWE, LLC

Bidder No. 5: DANE CONSTRUCTION INC

Bidder No. 6: APPLE TUCK & ASSOCIATES INC

Bidder No. 7: APAC - ATLANTIC INC THOMPSON

ARTHUR DIVISION

Bidder No. 8: BLYTHE DEVELOPMENT CO

Bidder No. 9: SLOAN CONSTRUCTION A

DIVISION OF REEVES CONSTRUCTION CO Bidder No. 10: TRIANGLE GRADING & PAVING

INC

bid_Tab Page 2 of 4

BID TABULATIONS

Contract No:DH00292 WBS No:17BP.8.R.997

County:Randolph

Replacement of Bridge #18 over Bettie McGee's Creek on SR 1107 (Lassiter Mill Rd)

Bid Opening Date: 11/13/2018 at 2:00 PM

				& ASSOCIATES	APAC - ATLANTIC INC				SLOAN CONSTRUCTION A		TRIANGLE GRADING &	
				INC	THOMPSON AR		BLYTHE DEVELOPMENT CO		DIVISION OF REEVES		PAVING INC	
ITEM NO.	ITEM	QUANTITY	UNITS	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$57,500.00	\$60,000.00	\$60,000.00	\$62,000.00	\$62,000.00	\$78,000.00	\$78,000.00	\$90,900.00	\$90,900.00
2	Type II Modified Approach Fill, Sta. 15+81.60 -L-	1.00	LS	\$15,000.00	\$7,000.00	\$7,000.00	\$12,000.00	\$12,000.00	\$15,000.00	\$15,000.00	\$31,800.00	\$31,800.00
3	Grading	1.00	LS	\$165,800.00	\$160,000.00	\$160,000.00	\$141,000.00	\$141,000.00	\$160,000.00	\$160,000.00	\$157,500.00	\$157,500.00
4	Supplementary Clearing & Grubbing	1.00	Acre	\$1.00	\$1.00	\$1.00	\$2,510.00	\$2,510.00	\$500.00	\$500.00	\$5,800.00	\$5,800.00
5	Undercut Excavation	500.00	CY	\$4,000.00	\$8.00	\$4,000.00	\$26.75	\$13,375.00	\$19.00	\$9,500.00	\$63.15	\$31,575.00
6	Drainage Ditch Excavation	60.00	CY	\$540.00	\$9.00	\$540.00	\$25.00	\$1,500.00	\$24.00	\$1,440.00	\$21.63	\$1,297.80
7	Select Granular Material, Class III	100.00	CY	\$800.00	\$8.00	\$800.00	\$62.00	\$6,200.00	\$45.00	\$4,500.00	\$69.41	\$6,941.00
8	Geotextile for Soil Stabilization	400.00	SY	\$600.00	\$1.50	\$600.00	\$5.50	\$2,200.00	\$1.50	\$600.00	\$3.80	\$1,520.00
9	Foundation Conditioning Material, Minor Structures	20.00	Ton	\$20.00	\$1.00	\$20.00	\$65.00	\$1,300.00	\$32.00	\$640.00	\$66.35	\$1,327.00
	Foundation Conditioning Geotextile	60.00	SY	\$60.00	\$1.00	\$60.00	\$11.00	\$660.00	\$1.50	\$90.00	\$3.78	\$226.80
11	15" Drainage Pipe	104.00	LF	\$4,472.00	\$43.00	\$4,472.00	\$50.00	\$5,200.00	\$65.00	\$6,760.00	\$45.00	\$4,680.00
12	15" Drainge Pipe Elbows	4.00	Ea	\$4.00	\$1.00	\$4.00	\$385.00	\$1,540.00	\$84.00	\$336.00	\$235.04	\$940.16
13	60" RC Pipe Culverts, Class III	64.00	LF	\$9,280.00	\$145.00	\$9,280.00	\$400.00	\$25,600.00	\$300.00	\$19,200.00	\$634.92	\$40,634.88
	Pipe Removal	20.00	LF	\$200.00	\$10.00	\$200.00	\$29.00	\$580.00	\$20.00	\$400.00	\$31.19	\$623.80
15	Incidental Stone Base	15.00	Ton	\$525.00	\$35.00	\$525.00	\$70.00	\$1,050.00	\$45.00	\$675.00	\$91.00	\$1,365.00
16	Incidental Milling	100.00	SY	\$1,500.00	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$30.00	\$3,000.00	\$35.95	\$3,595.00
17	Asphalt Concrete Base Course, Type B25.0C	350.00	Ton	\$26,250.00	\$100.00	\$35,000.00	\$75.00	\$26,250.00	\$100.00	\$35,000.00	\$142.17	\$49,759.50
18	Asphalt Concrete Intermediate Course, Type I19.0C	325.00	Ton	\$24,375.00	\$104.00	\$33,800.00	\$75.00	\$24,375.00	\$104.00	\$33,800.00	\$145.22	\$47,196.50
19	Asphalt Concrete Surface Course, Type S9.5B	450.00	Ton	\$33,750.00	\$105.00	\$47,250.00	\$75.00	\$33,750.00	\$105.00	\$47,250.00	\$125.78	\$56,601.00
—	Asphalt Binder for Plant Mix	60.00	Ton	\$37,500.00	\$970.00	\$58,200.00	\$625.00	\$37,500.00	\$970.00	\$58,200.00	\$907.40	\$54,444.00
-	Right of Way Markers	3.00	Ea	\$900.00	\$425.00	\$1,275.00	\$200.00	\$600.00	\$425.00	\$1,275.00	\$556.19	\$1,668.57
	Reinforced Endwalls	11.20	CY	\$11,032.00	\$985.00	\$11,032.00	\$1,130.00	\$12,656.00	\$2,000.00	\$22,400.00	\$2,335.96	\$26,162.75
23	Masonry Drainage Structure	2.00	Ea	\$2,800.00	\$1,400.00	\$2,800.00	\$1,600.00	\$3,200.00	\$2,200.00	\$4,400.00	\$3,849.19	\$7,698.38
24	Frame with Two Grates, Std 840.29	2.00	Ea	\$700.00	\$350.00	\$700.00	\$750.00	\$1,500.00	\$625.00	\$1,250.00	\$1,020.28	\$2,040.56
25	Shoulder Berm Gutter	30.00	LF	\$3,000.00	\$55.00	\$1,650.00	\$60.00	\$1,800.00	\$75.00	\$2,250.00	\$163.58	\$4,907.40
26	Steel Beam Guardrail	112.50	LF	\$1,884.38	\$16.75	\$1,884.38	\$20.00	\$2,250.00	\$20.00	\$2,250.00	\$21.92	\$2,466.00
27	Additional Guardrail Posts	5.00	Ea	\$150.00	\$30.00	\$150.00	\$11.00	\$55.00	\$11.00	\$55.00	\$39.26	\$196.30
28	Guardrail Anchor Units, Type III	4.00	Ea	\$7,000.00	\$1,750.00	\$7,000.00	\$1,850.00	\$7,400.00	\$1,850.00	\$7,400.00	\$2,290.18	\$9,160.72
29	Guardrail End Units, Type TL-3	4.00	Ea	\$11,200.00	\$2,800.00	\$11,200.00	\$3,200.00	\$12,800.00	\$3,200.00	\$12,800.00	\$3,664.29	\$14,657.16
30	Rip Rap, Class I	55.00	Ton	\$2,365.00	\$43.00	\$2,365.00	\$54.00	\$2,970.00	\$75.00	\$4,125.00	\$65.00	\$3,575.00
31	Rip Rap, Class II	300.00	Ton	\$14,100.00	\$47.00	\$14,100.00	\$52.00	\$15,600.00	\$65.00	\$19,500.00	\$70.00	\$21,000.00
	Rip Rap, Class B	120.00	Ton	\$5,160.00	\$43.00	\$5,160.00	\$54.00	\$6,480.00	\$55.00	\$6,600.00	\$65.00	\$7,800.00
	Geotextile for Drainage	950.00	SY	\$1,662.50	\$1.75	\$1,662.50	\$6.00	\$5,700.00	\$1.50	\$1,425.00	\$3.74	\$3,553.00
1 34	Generic Traffic Control Item, Temporary Traffic Control	1.00	LS	\$4,300.00	\$7,295.00	\$7,295.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$5,567.60	\$5,567.60
35	ThermoPlastic Pavement Marking Lines (4", 90mils)	1,800.00	LF	\$2,304.00	\$1.90	\$3,420.00	\$1.90	\$3,420.00	\$1.90	\$3,420.00	\$3.47	\$6,246.00
36	ThermoPlastic Pavement Marking Lines (4", 120mils)	1,800.00	LF	\$2,502.00	\$2.00	\$3,600.00	\$2.00	\$3,600.00	\$2.00	\$3,600.00	\$3.60	\$6,480.00
	Permanent Raised Pavement Markers	20.00	Ea	\$150.00	\$15.00	\$300.00	\$15.00	\$300.00	\$15.00	\$300.00	\$19.63	\$392.60
 	Temporary Silt Fence	1,085.00	LF	\$1,953.00	\$1.80	\$1,953.00	\$3.00	\$3,255.00	\$4.50	\$4,882.50	\$4.58	\$4,969.30
1	Stone for Erosion Control, Class A	60.00	Ton	\$60.00	\$1.00	\$60.00	\$25.00	\$1,500.00	\$35.00	\$2,100.00	\$60.00	\$3,600.00
40	Stone for Erosion Control, Class B	130.00	Ton	\$130.00	\$1.00	\$130.00	\$25.00	\$3,250.00	\$35.00	\$4,550.00	\$65.00	\$8,450.00
41	Sediment Control Stone	215.00	Ton	\$215.00	\$1.00	\$215.00	\$25.00	\$5,375.00	\$30.00	\$6,450.00	\$70.00	\$15,050.00
42	Temporary Mulching	1.50	Acre	\$337.50	\$225.00	\$337.50	\$2,000.00	\$3,000.00	\$2,000.00	\$3,000.00	\$1,766.71	\$2,650.07
43	Seed for Temporary Seeding	200.00	LB	\$200.00	\$1.00	\$200.00	\$2.00	\$400.00	\$2.00	\$400.00	\$6.54	\$1,308.00
44	Fertilizer for Temporary Seeding	1.00	Ton	\$350.00	\$350.00	\$350.00	\$850.00	\$850.00	\$850.00	\$850.00	\$1,570.41	\$1,570.41
45	Temporary Slope Drains	200.00	LF	\$200.00	\$1.00	\$200.00	\$9.00	\$1,800.00	\$8.00	\$1,600.00	\$16.76	\$3,352.00
46	Safety Fence	200.00	LF	\$400.00	\$2.00	\$400.00	\$3.00	\$600.00	\$3.00	\$600.00	\$5.23	\$1, 046 300

		& ASSOCIATES		APAC - ATLANTIC INC				SLOAN CONSTRUCTION A		TRIANGLE GRADING &		
TEL ANO	ITEM	OLI A NITRITA				THUR DIVISION		ELOPMENT CO	DIVISION OF REEVES			IG INC
ITEM NO		QUANTITY	UNITS			AMOUNT BID		AMOUNT BID		AMOUNT BID	UNIT PRICE	AMOUNT BID
47	Silt Excavation Matting for Engine Control	110.00	CY	\$440.00		\$440.00		\$1,100.00		\$1,760.00	\$17.00	\$1,870.00
48	Matting for Erosion Control	6,360.00	SY	\$6,360.00		\$6,360.00		\$15,900.00		\$15,900.00	\$2.49	\$15,836.40
49	Coir Fiber Mat	595.00	SY	\$3,986.50		\$3,986.50		\$2,380.00	\$4.00	\$2,380.00	\$4.20	\$2,499.00
50	1/4" Hardware Cloth	590.00	LF	\$590.00		\$590.00		\$1,770.00		\$1,770.00	\$8.83	\$5,209.70
51	Floating Turbidity Curtain	335.00	SY	\$2,345.00		\$2,345.00		\$25,125.00		\$8,375.00	\$50.49	\$16,914.15
52	Special Stilling Basins	3.00	Ea	\$3,000.00	\$500.00	\$1,500.00	,	\$3,000.00	\$700.00	\$2,100.00	\$4,517.09	\$13,551.27
53	Coir Fiber Wattle	40.00	LF	\$240.00	·	\$240.00		\$600.00	\$15.00	\$600.00	\$32.72	\$1,308.80
54	Polycrylamide (PAM)	30.00	LB	\$30.00	\$1.00	\$30.00		\$270.00		\$270.00	\$35.03	\$1,050.90
55	Seeding & Mulching	3.00	Acre	\$1,275.00	\$425.00	\$1,275.00		\$9,000.00	\$3,000.00	\$9,000.00	\$3,237.00	\$9,711.00
56	Mowing	3.00	Acre	\$3.00	\$1.00	\$3.00		\$1,500.00	\$500.00	\$1,500.00	\$196.30	\$588.90
57	Seed for Repair Seeding	50.00	LB	\$50.00	\$1.00	\$50.00		\$50.00	\$1.00	\$50.00	\$10.47	\$523.50
58	Fertilizer for Repair Seeding	0.25	Ton	\$87.50		\$87.50		\$212.50		\$212.50	\$1,832.16	\$458.04
59	Seed for Supplemental Seeding	50.00	LB	\$50.00	\$1.00	\$50.00		\$100.00	\$2.00	\$100.00	\$10.47	\$523.50
60	Fertilizer Topdressing	1.25	Ton	\$437.50	·	\$437.50		\$1,062.50		\$1,062.50	\$1,832.14	\$2,290.18
61	Impervious Dike	33.00	LF	\$990.00	\$30.00	\$990.00		\$1,980.00		\$10,395.00	\$231.44	\$7,637.52
62	Specialized Hand Mowing	10.00	Mhr	\$110.00	\$11.00	\$110.00		\$750.00	\$75.00	\$750.00	\$58.89	\$588.90
63	Response for Erosion Control	13.00	Ea	\$13.00	\$1.00	\$13.00	·	\$650.00	\$50.00	\$650.00	\$458.04	\$5,954.52
64	Concrete Washout Structure	1.00	Ea	\$425.00	\$425.00	\$425.00	\$450.00	\$450.00	\$650.00	\$650.00	\$1,966.65	\$1,966.65
65	Removal of Existing Structure at Station 15+81.60 -L-	1.00	LS	\$20,000.00	\$20,000.00	\$20,000.00	\$40,000.00	\$40,000.00	\$45,000.00	\$45,000.00	\$83,896.53	\$83,896.53
66	Asbestos Assessment	1.00	LS	\$1,500.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$800.00	\$800.00	\$981.50	\$981.50
67	3'-0" Dia. Drilled Piers in Soil	15.00	LF	\$13,500.00	\$1,063.00	\$15,945.00	\$1,225.00	\$18,375.00	\$965.00	\$14,475.00	\$1,706.39	\$25,595.85
68	3'-0" Dia. Drilled Piers Not in Soil	45.00	LF	\$40,500.00	\$1,063.00	\$47,835.00		\$42,975.00		\$43,425.00	\$1,626.46	\$73,190.70
69	Permanent Steel Casing for 3'-0" Drilled Piers	21.00	LF	\$2,940.00	\$272.00	\$5,712.00	\$230.00	\$4,830.00	\$272.00	\$5,712.00	\$652.69	\$13,706.49
70	PDA Testing	1.00	Ea	\$2,550.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$2,550.00	\$2,550.00	\$3,337.12	\$3,337.12
71	SID Inspections	1.00	Ea	\$1,000.00	\$200.00	\$200.00		\$2,500.00	\$1,200.00	\$1,200.00	\$261.74	\$261.74
72	CSL Testing	1.00	Ea	\$2,450.00	\$2,800.00	\$2,800.00	\$5,400.00	\$5,400.00	\$2,200.00	\$2,200.00	\$1,504.97	\$1,504.97
73	Unclassified Structure Excavation at Station 15+81.60 -L-	1.00	LS	\$20,000.00	\$20,000.00	\$20,000.00	\$16,000.00	\$16,000.00	\$70,000.00	\$70,000.00	\$20,399.27	\$20,399.27
74	Class A Concrete (Bridge)	70.10	CY	\$87,625.00	\$1,000.00	\$70,100.00	\$1,255.10	\$87,982.51	\$1,500.00	\$105,150.00	\$1,439.54	\$100,911.75
75	Bridge Approach Slabs, Station 15+81.60 -L-	1.00	LS	\$25,000.00	\$31,000.00	\$31,000.00	\$17,000.00	\$17,000.00	\$30,000.00	\$30,000.00	\$38,676.42	\$38,676.42
76	Reinforcing Steel (Bridge)	16,195.00	LB	\$24,292.50	\$1.04	\$16,842.80	\$1.50	\$24,292.50	\$2.00	\$32,390.00	\$2.49	\$40,325.55
77	Spiral Column Reinforcing Steel (Bridge)	1,385.00	LB	\$2,770.00	\$1.59	\$2,202.15	\$1.60	\$2,216.00	\$2.00	\$2,770.00	\$6.91	\$9,570.35
78	Pile Driving Equipment Setup for HP 12 x 53 Steel Piles	10.00	Ea	\$15,000.00	\$400.00	\$4,000.00	\$540.00	\$5,400.00	\$1,500.00	\$15,000.00	\$677.00	\$6,770.00
79	HP 12 x 53 Steel Piles	151.00	LF	\$6,568.50	\$50.00	\$7,550.00	\$83.00	\$12,533.00	\$70.00	\$10,570.00	\$143.00	\$21,593.00
80	Steel Pile Points	10.00	Ea	\$1,125.00	\$201.00	\$2,010.00	\$300.00	\$3,000.00	\$145.00	\$1,450.00	\$144.42	\$1,444.20
81	Vertical Concrete Barrier	260.29	LF	\$32,536.25	\$109.00	\$28,371.61	\$106.00	\$27,590.74	\$125.00	\$32,536.25	\$301.00	\$78,347.29
82	Rip Rap Class II (2'-0'' Thick)	349.00	Ton	\$14,658.00	\$42.00	\$14,658.00	\$51.00	\$17,799.00	\$75.00	\$26,175.00	\$84.00	\$29,316.00
83	Geotextile for Drainage	387.00	SY	\$774.00	\$2.00	\$774.00	\$5.05	\$1,954.35	\$1.50	\$580.50	\$46.59	\$18,030.33
84	Elastomeric Bearings	1.00	LS	\$7,500.00	\$10,000.00	\$10,000.00	\$7,000.00	\$7,000.00	\$7,500.00	\$7,500.00	\$8,830.99	\$8,830.99
85	3'-0" x 2'-9" Prestressed Concrete Box Beams	900.00	LF	\$279,000.00	\$314.00	\$282,600.00	\$292.00	\$262,800.00	\$400.00	\$360,000.00	\$398.22	\$358,398.00
	3'-0" x 1'-9" Prestressed Concrete Cored Slabs	400.00	LF	\$70,000.00	\$185.50	\$74,200.00		\$67,800.00		\$90,000.00	\$226.19	\$90,476.00
	Diddon No. 1, EASTEDN STRUCTURES LLC			\$1,148,954.13		\$1,182,924.44		\$1,248,299.10		\$1,564,382.25		\$1,868,342.24

Bidder No. 1: EASTERN STRUCTURES LLC Bidder No. 2: R.E. BURNS & SONS CO., INC.

Bidder No. 3: NATIONAL BRIDGE BUILDERS LLC

Bidder No. 4: SMITH-ROWE, LLC

Bidder No. 5: DANE CONSTRUCTION INC

Bidder No. 6: APPLE TUCK & ASSOCIATES INC

Bidder No. 7: APAC - ATLANTIC INC THOMPSON

ARTHUR DIVISION

Bidder No. 8: BLYTHE DEVELOPMENT CO Bidder No. 9: SLOAN CONSTRUCTION A

DIVISION OF REEVES CONSTRUCTION CO

Bidder No. 10: TRIANGLE GRADING & PAVING

INC

bid_Tab Page 4 of 4